bt e
AT PR
- db L = — 5%
THREXRZES &
Wit 1 1002 b & ER3TE
ARIEA - BRARR
E3% 1 (02)2312-6369
1A (02)2381-8021
%% A—I‘/—
%X FE O BRI
BB PERBRIIISILALGR
BXFEE D B&%hFH11101321623%
R LA

©emily094@mail. coa. gov. tw
B ERABFARMRARE HAR -

F g5 o oRE

=

Mg (110548 A% T3F0 %, pdf)
g - T1104 B £ %

FENRAELFREEREL ) M
2000

3
Ik

— ~RIFAGIIIF2ALI B B#HF 5111002223858 F

IR o
C RIBF B ST AL PEES0 PR EH I AT 0 100-
499 pF 3 B T
L E

HerF A ma > BRASE R RMAHK
T AR
=~ PR ARG HE F R R

“EH
CEBAERBEMMEERE WA AT, o
BEBTATL S LHEA=4 0 &
| ME—LTUSE SEXBBBEEATESE - — 4R
% @%~Z%ﬁ;::?@%3~
BRAEE—LERE—R 3
io

WA~ LEE =24
AT MEME LA UF &

—

EA %ﬁ#ﬁ?%liﬁ?

W R BEUT
B R BB BB ER

RSB
ﬁﬁ ERTHF - 2T HEHF
EF

Bul

HACBREBT - EMRBREBUT ~ £ R

%i%ﬁﬁ ES 8 O i

= 736 T B
gt

T H AL
PR AT &P HA - £



110FRESEIAEZTARBEERT

BH4H
H B 5E B R ErlmE TrEE | REaEREM o 4
Bz Bl (25%) (30%) (30%) SRA5%) | A HF;
HE | ¥ | o | 28 | B | ¥ P E
E M54 798 | 203 | 864 | 259 | 1 |276 11 84.8 1
EZEitdis 775 | 202 | 872 | 261 | -1 | 264 9 81.8
R R4 745 | 202 | 838 | 252 | 0 |27.0 9 81.3
=/ 729 | 201 | 86.0 | 258 | -2 |258 11 82.7
1= 655 | 199 | 8.0 | 258 | 0 |27.0 12 84.7 2
EZ 636 | 199 | 841 | 252 | -1 |264 12 83.5
5= P A 567 | 197 | 871 | 261 | 0 |[270 11 83.9 3
ST 517 | 196 | 874 | 262 | 0 |[270 11 838 | 4
O
FETREE| ENRE | IEEE | ReERHEM .
B3l (25%) (30%) (30%) SEH15%) | i m';:
HE | D8 | 0 | DE | B | 7E DE
EE 282 | 204 | 859 | 258 | 2 |282 11 85.4
B EEBL 212 1202 | 871 | 261 | 1 |276 12 85.9
1G4 189 [ 20.1 | 819 | 246 | 6 |306 12 87.3 3
wribm 138 {199 | 885 | 266 | 3 |288 12 87.3 3
AT R4 120 {198 | 870 | 261 | 1 |276 12 85.5
PEETH 112 | 198 | 885 | 265 | 1 |276 14 87.9 1
HEE 101 | 198 | 879 | 264 | 4 |294 12 87.5 2
A :
B SE R ERlmE TrEE | RaEREM 4
B Rl (25%) (30%) (30%) SE(15%) | HUE ;at}%i
HE | 8| | 28 | BY| ¥ DE
=1tm 37 [20.28| 86.1 | 258 | 6 |306 12 88.7 1
=5 28 [20.14| 884 | 265 | 6 |306 10 87.3
HpEmh 6 | 198 | 88 | 254 | 1 |276 10 82.8
M 4 119.77| 852 | 255 | 3 |288 10 84.1

et BRI RERAR .

LABMHER : REFRID B=[80+(F#-:2419)/20]*0.25 ;

2ERRE ERmBRERENEEEEZERETT D03 ;

3.ILFERE | TFEEDE=(90+2*K530)*0.3 ;

AfCEEREMER : REEME - BhZEaE - XEHMRMBREAEMERBIBG D -
U150 AR -




